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REHAXER ETEREH | ETHEH | ETHH | BETE W) | ETE%)
TrEH 2,159 2,136 2,073 98.9% 96.0%
A1) 265 258 239 97.3% 90.1%
i3] 24 22 22 91.6% 91.6%
BE 161 157 143 97.5% 88.8%
1B B 766 764 756 99.7% 98.6%
B 45 44 42 97.7% 93.3%
B 331 331 331 100.0% 100.0%
ke 470 463 443 98.5% 94.2%
TK 3 3 3 100.0% 100.0%
NE 5 5 5 100.0% 100.0%
NEFE 89 89 89 100.0% 100.0%
HERAI 2,159 2,136 2,073 98.9% 96.0%
S 26 26 26 100.0% 100.0%
@Y 535 535 535 100.0% 100.0%
JEEY 1,598 1,575 1,512 98.5% 94.6%
REHEAXER ETEREH | AITHEH | ETHH | BITE (%) | ETHE(%)
TR (£E) 26 26 26 100.0% 100.0%
saf)Il 5 5 5 100.0% 100.0%
B R 16 16 16 100.0% 100.0%
B 1 1 1 100.0% 100.0%
NEEFE 4 4 4 100.0% 100.0%
REAKER EEAEH | BIHE | =THE% | BT% (%) | =T (%)
TR (Fhal) 535 535 535 100.0% 100.0%
A7)l 71 71 71 100.0% 100.0%
03] 13 13 13 100.0% 100.0%
B iR 394 394 394 100.0% 100.0%
B 13 13 13 100.0% 100.0%
Tk 3 3 3 100.0% 100.0%
NEEE 41 41 41 100.0% 100.0%
REHAXER EFEREH | AITHEY | ETHH | BITE (%) | ETHE(%)
THERGEEY) 1,598 1,575 1512 98.5% 94.6%
A1) 189 182 163 96.2% 86.2%
BbBA 11 9 9 81.8% 81.8%
BE 161 157 143 97.5% 88.8%
Sk 356 354 346 99.4% 97.1%
B 32 31 29 96.8% 90.6%
B 330 330 330 100.0% 100.0%
M 470 463 443 98.5% 94.2%
NE 5 5 5 100.0% 100.0%
NEEFE 44 44 44 100.0% 100.0%
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